
Benzin-Trainer Rotorkopf
Ord.No.1005/60

M
1:

1
2x

 7
0/

11
0

72/40

90980
8x14x0,3

90980
8x14x0,3

90990
8x14x0,5

90415
M3x8 (S)

90065
M3x10 (S)

107/13
2,5x4,8

90810
3x5x0,5

96/1
5x13x5

2x 90820
3x6x0,1

80/30

05/08

Ø8,2mm

Ø8,0mm

117/5
M5x14 (S)

Fett

117/6

117/4

75
8x16x4

78/41

90810
3x5x0,5

90536
M5117/8

057

90970
8x14x0,2

72/40

90380
M3x5 (S)

90380
M3x5 (S)

72/32

76/16

90380
M3x5 (S)

84
3x10x4

71/11
3x7x3

71/11
3x7x3

060/7
M2,5x5

90415
M3x8(S)

90010
M2x4 (S)

Ord.No.10/36

90075
M3x12 (S) 

057

117/6

86/10

90030
M2,5x8

75  
8x16x4

2x54/8
2x30mm

90385
M4x4 (S)

75  
8x16x42x 90365

M3x3 (S)

90385
M4x4 (S)73/10

74/5
3x7mm

54/13

54/16

060/15
(S)

060/15
M2x3,5 (S)

90810
3x5x0,5

060/7
M2,5x5

72/32

2x 90820
3x6x0,1

84
3x10x4 90075

M3x12 (S) 

80/30

90810
3x5x0,5

78/41

90810
3x5x0,5

79/30
87/4

90365
M3x3 (S)

91/50 (S)

90010
M2x4 (S)

90990
8x14x0,5

86/10

82/9
96/1
5x13x5

71/11
3x7x3

90030
M2,5x8

71/11
3x7x3

71/27

91/50 (S)

71/27

71/26

(S) = Ord.No.10/24

90380
M3x5 (S)

71A

90015
M2x8

90418
M3x14

90418
M3x14

107/12
2x4,8

71/16
3x7x3

56B

71/18

90365
M3x3 (S)

90810
3x5x0,5

71/16
3x7x3

107/12
2x4,8

71/18
71/14

097
M3x18

71/16
3x7x3

56B

90015
M2x8

90810
3x5x0,5

90810
3x5x0,5

71/16
3x7x3

71/14

117/8

Fett

90536
M5

90970
8x14x0,2

Ø8,0mm

76/16

75
8x16x4

107/13
2,5x4,8

117/5
M5x14 (S)

117/4

Ø8,2mm

71/26

Ord.No.10/36

87/4

74/5
3x7mm


